
54327

MANUAL DE INSTRUCCIONES  · INSTRUCTION MANUAL ·  GUIDE D’UTILISATION · BEDIENUNGSANLEITUNG ·
 MANUALE D’USO · MANUAL DE INSTRUÇÕES · MANUAL DE INSTRUCŢIUNI · HANDLEIDING · 
ÜZEMELTETÉSI UTASÍTÁS · РУКОВОДСТВО ПО ЭКСПЛУАТАЦИИ · INSTRUKCJA OBSŁUGI 

CONJUNTO DE MUEBLES MODULARES PARA TALLER (18 PCS)........................................ 2

WORKSHOP MODULAR STORAGE SYSTEM (18 PCS).......................................................... 5

CONJUNTO DE MÓVEIS MODULARES PARA OFICINA (18 PCS).......................................17

ENSEMBLE DE MEUBLES MODULAIRES POUR GARAGE (18 PCS)......................................8

MODULARES WERKSTATTMÖBEL-SET (18 TEILE)............................................................... 11

SET DI MOBILI COMPONIBILI PER OFFICINA (18 PZ)......................................................... 14

MODUŁOWY SYSTEM PRZECHOWYWANIA RZECZY DO WARSZTATU (18 CZĘŚCI)....... 32

MODULÁRIS MŰHELYI TÁROLÓRENDSZER (18 DB)............................................................ 26

SISTEM DE DEPOZITARE MODULAR PENTRU ATELIERE (18 BUC).....................................20

МОДУЛЬНАЯ СИСТЕМА ХРАНЕНИЯ ДЛЯ МАСТЕРСКОЙ (18 ШТ.).................................. 29

MODULAIR OPBERGSYSTEEM VOOR WERKPLAATS (18-DELIG)..................................... 23



· 2 ·

REF.54327

GSW-05 Armario de pared (x3)

GSW-06 Panel para 
herramientas (x6)

GSW-07 Estante para armario 
alto (x4)

GSW-08 Estante para armario 
de dos puertas

GSW-09 Bordillo frontal de 
600mm

GSW-10 Bordillo lateral de 
500mm (x4)

GSW-11 Bordillo frontal de 
680mm (x2)

GSW-12 Barra de 1890mm (x4)

GSW-13 Tablero de MDF

GSW-14 Patas ajustables (x12)

GSW-15 Patas fijas (x12)

GSW-16 Soportes para 
estantería (x20)

GSW-17 Tornillos M5x12 (x80)

GSW-18 Tornillos M6x12 (x24)

GSW-19 Tornillos M4x20 (x6) 

GSW-20 Llave hexagonal

GSW-21 Tornillos M4x30 (x2)

PRESENTACIÓN DEL PRODUCTO

Este conjunto de muebles modulares para su 
taller está diseñado para ayudarle a mante-
ner un ambiente ordenado y confortable.

Sus herramientas estarán estratégicamente 
ubicadas para que todo sea más funcional y 
estéticamente profesional.

INSTRUCCIONES DE SEGURIDAD

Lea atentamente estas instruc-
ciones antes de usar el producto.

Si no sigue correctamente estas 
instrucciones se podrían producir 
daños personales y/o al produc-
to.

Guarde estas instrucciones para futuras con-
sultas.

LISTADO DE PARTES

FOTO PARTE DESCRIPCIÓN

GSW-01 Armario alto

GSW-02 Carro de seis cajones

GSW-03 Armario de 4 cajones

GSW-04 Armario de 2 puertas

MANUAL DE INSTRUCCIONESES



· 3 ·

REF.54327

GSW-22 Taco para tornillo (x2)

GSW-23 Barra de extensión (x2)

GSW-24 Paneles traseros (x2)

MONTAJE

PASO 1: Instale las patas ajustables (GSW-14) y las patas 
fijas (GSW-15) debajo de GSW-01, GSW-03 y GSW-04. 

Use tornillos M6x12 (GSW-18) para fijar las patas (GSW-15).

PASO 2: Coloque GSW-01, GSW-03 y GSW-04 según el or-
den y la posición deseados. Asegúrese de que la distancia 
entre GSW-3 y GSW-4 sea de 680mm.

PASO 3:  Instale las 4 barras (GSW-12) en la parte trasera 
de los armarios. Ponga los dos paneles traseros (GSW-24) 
entre GSW-3 y GSW-4. Una las barras a los armarios y pa-
neles con tornillos M5x12 (GSW-17).

PASO 4: Instale los 6 paneles perforados (GSW-06) con tor-
nillos M5x12 (GSW-17).

PASO 5: Coloque los 3 armarios de pared (GSW-05) con 
tornillos M5x12 (GSW-17).

PASO 6: Coloque el tablero de MDF (GSW-13).

Coloque los bordillos (GSW-09, GSW-10 y GSW-11) usando 
los tornillos M5x12 (GSW-17).

PASO 7: Una el tablero de MDF al armario alto con los tor-
nillos M4x20. Una las barras al tablero de MDF con los tor-
nillos M4x20.



· 4 ·

REF.54327

PASO 8: Coloque los soportes para estanterías dentro de 
los armarios.

Coloque las estanterías y las puertas.

PASO 9: Si el suelo esta desnivelado, modifique la altura de 
las patas ajustables usando la llave hexagonal.

PASO 10: Si desea fijar el conjunto de muebles a la pared, 
deberá usar las barras de extensión.

Coloque el conjunto contra la pared.

Coloque las barras de extensión dentro de las barras a la 
altura que usted desee.

Marque en la pared el lugar donde realizará los agujeros.

Quite las barras de extensión y taladre la pared.

Ponga otra vez las barras de extensión y atorníllelas a la 
pared con los tornillos M4x30.



· 5 ·

REF.54327

GSW-05 Wall cabinet (x3)

GSW-06 Pegboard (x6)

GSW-07
Tall  cabinet

shelves (x4)

GSW-08 2 door cabinet shelf

GSW-09 600mm front base-
board

GSW-10 500mm curb side (x4)

GSW-11 680mm front base-
board (x2)

GSW-12 1890mm post (x4)

GSW-13 MDF board

GSW-14 Adjustable legs (x12)

GSW-15 Fixed legs (x12)

GSW-16 Shelf brackets (x20)

GSW-17 M5x12 bolts  (x80)

GSW-18 TM6x12 screws (x24)

GSW-19 M4x20 screws (x6)

GSW-20 Hexagonal wrench

GSW-21 M4x30 screws (x2)

PRODUCT PRESENTATION

This set of modular furniture for your workshop 
is designed to help you keep an orderly and 
comfortable environment.

Your tools will be strategically located to make 
everything more functional and professional.

SAFETY INSTRUCTIONS

Read these instructions carefully before using 
the product.

Failure to follow these instruc-
tions correctly may result in per-
sonal injury and/or damage to 
the product. Keep these instruc-
tions for future reference.

PARTS LIST

PHOTO PART DESCRIPTION

GSW-01 Tall cabinet

GSW-02 6 drawers roller cabinet

GSW-03 4 drawers cabinet

GSW-04 2 door cabinet

INSTRUCTION MANUALEN



· 6 ·

REF.54327

GSW-22 Wall plug (x2)

GSW-23 Extension bar (x2)

GSW-24 Rear panels (x2)

ASSEMBLY

STEP 1: Install the adjustable legs (GSW-14) and fixed legs 
(GSW-15) under the GSW-01, GSW-03 and GSW-04.

Use M6x12 bolts (GSW-18) to secure the legs (GSW-15).

STEP 2: Place GSW-01, GSW-03 and GSW-04 in the desi-
red order and position. Make sure that the distance be-
tween GSW-3 and GSW-4 is 680mm.

STEP 3:  Install the 4 posts (GSW-12) on the back of the ca-
binets. Put the two rear panels (GSW-24) between GSW-3 
and GSW-4. Attach the posts to the cabinets and panels 
with M5x12 screws (GSW-17).

STEP 4: Install the 6 perforated panels (GSW-06) with M5x12 
screws (GSW-17).

STEP 5: Install the 3 wall cabinets (GSW-05) with M5x12 
screws (GSW-17).

STEP 6: Put the MDF board (GSW-13).

Install the baseboards (GSW-09, GSW-10 and GSW-11) 
using the M5x12 screws (GSW-17).

STEP 7: Attach the MDF board to the tall cabinet with 
M4x20 screws. 

Attach each post to the MSF board with M4x20 screws.



· 7 ·

REF.54327

STEP 8: Put the shelf holders inside de cabinets.

Install the shelves and the doors.

STEP 9: If the floor is uneven, change the height of the ad-
justable legs using the hexagonal wrench.

STEP 10: If you want to attach the unit to the wall, you will 
need to use the extension bars.

Place the unit against the wall.

Insert the extension bars into the posts at your desired hei-
ght.

Make a mark in the wall in the place where you will drill the 
holes.

Take out the extension bars and take drill the wall.

Put again the extension bars and attach them to the wall 
with the M4x30 screws.



· 8 ·

REF.54327

GSW-05 Armoire murale (x3)

GSW-06 Panneau d’outils (x6)

GSW-07 Étagères pour armoire 
haute (x4)

GSW-08 Étagère d’armoire à 
deux portes

GSW-09 Bordure avant de 
600 mm

GSW-10 Bordure latérale 500 
mm (x4)

GSW-11 Bordure avant 680 
mm (x2)

GSW-12
Barre de 1890mm

(x4)

GSW-13 Panneau MDF

GSW-14
Pieds réglables

(x12)

GSW-15 Pieds fixes (x12)

GSW-16
Supports d’étagère

(x20)

GSW-17 Vis M5x12 (x80)

GSW-18 Vis M6x12 

GSW-19
Vis M4x20 

(x6)

GSW-20 Clé hexagonale

GSW-21
Vis M4x30

(x2)

PRÉSENTATION DU PRODUIT

Cet ensemble de mobilier modulaire pour vo-
tre atelier est conçu pour vous aider à mainte-
nir un environnement ordonné et confortable.

Vos outils seront stratégiquement placés pour 
rendre le tout plus fonctionnel et esthétique-
ment professionnel.

CONSIGNES DE SÉCURITÉ

Veuillez lire attentivement ces 
instructions avant d’utiliser le 
produit.

Le non-respect de ces instruc-
tions peut entraîner des blessu-
res corporelles et/ou des dom-

mages au produit. Conservez ces instructions 
pour référence future.

LISTE DES PIÈCES

PHOTO PIÈCE DESCRIPTION

GSW-01 Armoire haute

GSW-02 Servante à six tiroirs

GSW-03 Armoire 4 tiroirs

GSW-04 Armoire 2 portes

GUIDE D’UTILISATIONFR



· 9 ·

REF.54327

GSW-22 Bouchon à vis (x2)

GSW-23 Barre d’extension (x2)

GSW-24
Panneaux arrière

(x2)

MONTAGE

TAPE 1 : Installez les pieds réglables (GSW-14) et les pieds 
fixes (GSW-15) sous les modèles GSW-01, GSW-03 et 
GSW-04. Utilisez des vis M6x12 (GSW-18) pour fixer les pieds 
(GSW-15).

ÉTAPE 2 : Placez GSW-01, GSW-03 et GSW-04 dans l’ordre 
et la position souhaités. Assurez-vous que la distance entre 
GSW-3 et GSW-4 est de 680 mm.

ÉTAPE 3 : Installez les 4 barres (GSW-12) à l’arrière des ar-
moires. Placez les deux panneaux arrière (GSW-24) entre 
GSW-3 et GSW-4. Fixez les barres aux armoires et aux 
panneaux avec des vis M5x12 (GSW-17).

ÉTAPE 4 : Installez les 6 panneaux perforés (GSW-06) avec 
des vis M5x12 (GSW-17).

ÉTAPE 5 : Fixez les 3 armoires murales (GSW-05) avec des 
vis M5x12 (GSW-17).

ÉTAPE 6 : Poser le panneau MDF (GSW-13).

Fixez les bordures (GSW-09, GSW-10 et GSW-11) à l’aide 
des vis M5x12 (GSW-17).

ÉTAPE 7 : Fixez le panneau MDF au meuble haut avec les 
vis M4x20. Fixez les barres au panneau MDF avec les vis 
M4x20.



· 10 ·

REF.54327

ÉTAPE 8 : Placez les supports de tablette à l’intérieur des 
armoires. Placez les étagères et les portes.

ÉTAPE 9 : Si le sol est inégal, ajustez la hauteur des pieds 
réglables à l’aide de la clé hexagonale.

ÉTAPE 10 : Si vous souhaitez fixer le meuble au mur, vous 
devrez utiliser les barres d’extension.

Placer l’ensemble contre le mur.

Positionnez les barres d’extension à l’intérieur des barres à 
la hauteur souhaitée.

Marquez sur le mur où vous allez percer les trous.

Retirez les barres d’extension et percez à travers le mur.

Remettez les barres d’extension en place et vissez-les au 
mur avec les vis M4x30.



· 11 ·

REF.54327

GSW-05 Hängeschr ank (x3)

GSW-06 Werkzeugtafel (x6)

GSW-07 Hochschrankreg ale 
(x4)

GSW-08 Regal für zweitürigen 
Kleiderschrank

GSW-09 600mm Bordsteinka 
nte vorne

GSW-10
500mm

Seitenbordstein (x4)

GSW-11
680mm Bordsteinkante 

vorne (x2)

GSW-12 1890mm Stange (x4)

GSW-13 MDF-Platte

GSW-14
Verstellbare

Beine (x12)

GSW-15 Feste Beine (x12)

GSW-16 Regalstützen (x20)

GSW-17
Schrauben

M5x12 (x80)

GSW-18 Schrauben M6x12 (x24)

GSW-19
Schrauben

M4x20 (x6)

GSW-20 Sechskantschlüssel

GSW-21
Schrauben

M4x30 (x2)

PRÄSENTATION DES PRODUKTS

Dieses modulare Werkstattmöbel-Set soll Ih-
nen helfen, eine aufgeräumte und komfortable 
Umgebung zu schaffen. Ihre Werkzeuge wer-
den strategisch platziert, um alles funktioneller 
und ästhetisch professioneller zu gestalten.

SICHERHEITSHINWEISE

Bitte lesen Sie diese Anleitung 
sorgfältig durch, bevor Sie das 
Produkt verwenden.

Die Nichtbeachtung dieser 
Anweisungen kann zu Verletzungen und/oder 
Schäden am Produkt führen. Bewahren Sie 
diese Anleitung zum späteren Nachschlagen 
auf.

LISTE DER TEILE

FOTO TEIL BESCHREIBUNG

GSW-01 Hochschrank

GSW-02 Wagen mit sechs 
Schubladen

GSW-03 Kleiderschran k mit 4 
Schubladen

GSW-04

2-türiger

Kleiderschran k

BEDIENUNGSANLEITUNGDE



· 12 ·

REF.54327

GSW-22
Verschlussschraub 

e (x2)

GSW-23
Verlängeru ngsstange 

(x2)

GSW-24 Rückwände (x2)

MONTAGE

SCHRITT 1: Montieren Sie die verstellbaren Beine (GSW-14) 
und die festen Beine (GSW-15) unter GSW-01, GSW-03 und 
GSW-04. Verwenden Sie M6x12-Schrauben (GSW-18), um 
die Beine (GSW-15) zu befestigen.

SCHRITT 2: Platzieren Sie GSW-01, GSW-03 und GSW-04 
in der gewünschten Reihenfolge und Position. Stellen Sie 
sicher, dass der Abstand zwischen GSW-3 und GSW-4 680 
mm beträgt.

SCHRITT 3: Montieren Sie die 4 Stangen (GSW-12) auf der 
Rückseite der Schränke. Platzieren Sie die beiden Rüc-
kwände (GSW-24) zwischen GSW-3 und GSW-4. Befes-
tigen Sie die Stangen mit M5x12-Schrauben (GSW-17) an 
den Schränken und Platten.

SCHRITT 4: Montieren Sie die 6 Lochplatten (GSW-06) mit 
M5x12 Schrauben (GSW-17).

SCHRITT 5: Befestigen Sie die 3 Hängeschränke (GSW-05) 
mit M5x12 Schrauben (GSW-17).

SCHRITT 6: Montieren Sie die MDF-Platte (GSW-13).

Montieren Sie die Randsteine (GSW-09, GSW-10 und GSW-
11) mit den Schrauben M5x12 (GSW-17).

SCHRITT 7: Befestigen Sie die MDF-Platte mit 
M4x20-Schrauben am Hochschrank.

Befestigen Sie die Stangen mit M4x20 Schrauben an der 
MDF-Platte.



· 13 ·

REF.54327

SCHRITT 8: Bringen Sie die Regalhalterungen im Inneren der 
Schränke an.

Regale und Türen einbauen.

SCHRITT 9: Wenn der Boden uneben ist, passen Sie die 
Höhe der verstellbaren Füße mit dem Sechskantschlüssel 
an.

SCHRITT 10: Wenn Sie das Möbelset an der Wand befes-
tigen möchten, müssen Sie die Verlängerungsstangen 
verwenden. Stellen Sie die Baugruppe an die Wand.

Setzen Sie die Verlängerungsstangen in der gewünschten 
Höhe in die Stangen ein.

Markieren Sie an der Wand, wo die Löcher gebohrt werden 
sollen. Entfernen Sie die Verlängerungsstangen und bohren 
Sie in die Wand.

Setzen Sie die Verlängerungsstangen wieder ein und 
schrauben Sie

sie mit den Schrauben M4x30 an die Wand.



· 14 ·

REF.54327

GSW-05
Pensile

(x3)

GSW-06 Pannello forato (X6)

GSW-07
Armadio alto

ripiani (x4)

GSW-08 Ripiano per armadio 
a 2 ante

GSW-09 Battiscopa anteriore 
da 600 mm

GSW-10
Lato cordolo 500 mm

(x4)

GSW-11
Battiscopa anteriore 

da 680 mm (x2)

GSW-12 Barra de 1890mm (x4)

GSW-13 Pannello in MDF

GSW-14
Gambe regolabili

(x12)

GSW-15 Gambe fisse (x12)

GSW-16
Reggimensola

(x20)

GSW-17
Bulloni M5x12 

(x80)

GSW-18
Viti M6x12

(x24)

GSW-19
Viti M4x20

(x6)

GSW-20
Chiave esagonale

Spina a muro (x2)

GSW-21 Viti M4x30 (x2)

PRESENTAZIONE DEL PRODOTTO

Questo set di mobili modulari per la tua offi-
cina è progettato per aiutarti a mantenere un 
ambiente ordinato e confortevole.

I tuoi strumenti saranno posizionati strategica-
mente per rendere tutto più funzionale e pro-
fessionale.

ISTRUZIONI DI SICUREZZA

Leggere attentamente queste 
istruzioni prima di utilizzare il pro-
dotto.

La mancata corretta osservanza 
di queste istruzioni può causa-
re lesioni personali e/o danni al 

prodotto. Conservare queste istruzioni per fu-
ture consultazioni.

ELENCO DEI COMPONENTI

FOTO PARTE DESCRIZIONE

GSW-01 Armario alto

GSW-02 Carrello a 6 cassetti

GSW-03 Mobile 4 cassetti

GSW-04 Armadio a 2 ante

MANUALE D’USOIT



· 15 ·

REF.54327

MONTAGGIO

FASE 1: Installare le gambe regolabili (GSW-14) e le gambe 
fisse (GSW-15) sotto il GSW-01, GSW-03 e GSW-04.

Utilizzare bulloni M6x12 (GSW-18) per fissare le gambe 
(GSW-15).

FASE 2: Posizionare GSW-01, GSW-03 e GSW-04 nell’ordine 
e nella posizione desiderati. Assicurarsi che la distanza tra 
GSW-3 e GSW-4 sia di 680 mm.

FASE 3:  Installare i 4 montanti (GSW-12) sul retro degli ar-
madietti. Posizionare i due pannelli posteriori (GSW-24) tra 
GSW-3 e GSW-4. Fissare i montanti agli armadi e ai pan-
nelli con viti M5x12 (GSW-17).

FASE 4: Installare i 6 pannelli forati (GSW-06) con viti M5x12 
(GSW-17).

FASE 5: Installare i 3 pensili (GSW-05) con viti M5x12 (GSW-
17).

FASE 6: Metterea scheda MDF (GSW-13).

Installare le schede base (GSW-09, GSW-10 e GSW-11) uti-
lizzando le viti M5x12 (GSW-17).

FASE 7: Fissare il pannello MDF al mobile alto con viti M4x20. 

Fissare ogni montante alla scheda MSF con viti M4x20.

GSW-22 Spina a muro (x2)

GSW-23

Barra di estensione

(x2)

GSW-24
Pannelli posteriori

(x2)



· 16 ·

REF.54327

FASE 8: Mettere i reggimensole all’interno degli armadietti.

Installare i ripiani e le porte.

FASE 9: Se il pavimento è irregolare, modificare l’altezza de-
lle gambe regolabili utilizzando la chiave esagonale.

FASE 10: Se si desidera fissare l’unità alla parete, sarà ne-
cessario utilizzare le barre di estensione.

Posizionare l’unità contro il muro. Inserire le barre di prolun-
ga nei montanti all’altezza desiderata.

Fare un segno nel muro nel punto in cui si praticheranno i 
fori. Estrarre le barre di estensione e forare il muro.

Rimontare le barre di prolunga e fissarle al muro con le viti 
M4x30.



· 17 ·

REF.54327

MANUAL DE INSTRUÇÕESPT

GSW-05 Armário de parede (x3)

GSW-06
Painel de ferramentas

(x6)

GSW-07 Prateleiras altas para 
armários (x4)

GSW-08
Prateleiras para 
armário de duas 

portas

GSW-09 Lancil frontal de 600 
mm

GSW-10 Lancil lateral de 
500mm (x4)

GSW-11
Lancil frontal de 680 

mm (x2)

GSW-12
Barra de 1890mm

(x4)

GSW-13 Placa de MDF

GSW-14 Pés reguláveis (x12)

GSW-15 Pés fixos (x12)

GSW-16
Suportes de prateleiras

(x20)

GSW-17 Parafusos M5x12 (x80)

GSW-18 Parafusos M6x12 (x24)

GSW-19 Parafusos M4x20  (x6)

GSW-20 Chave hexagonal

GSW-21
Parafusos M4x30

(x2)

APRESENTAÇÃO DO PRODUTO

Este conjunto de móveis modulares para a sua 
oficina foi concebido para ajudar a manter um 
ambiente arrumado e confortável.

As suas ferramentas serão colocadas estrate-
gicamente para tornar tudo mais funcional e 
esteticamente profissional.

INSTRUÇÕES DE SEGURANÇA

Leia atentamente estas ins-
truções antes de utilizar o pro-
duto.

O não cumprimento correto des-
tas instruções pode resultar em 
ferimentos pessoais e/ou danos 

no produto. Guarde estas instruções para re-
ferência futura.

LISTA DE PEÇAS

FOTO PEÇA DESCRIÇÃO

GSW-01 Armário alto

GSW-02 Carrinho de seis 
gavetas

GSW-03 Armário com 4 gavetas

GSW-04 Armário de 2 portas



· 18 ·

REF.54327

GSW-22
Tampão de parafuso 

(x2)

GSW-23 Barra de extensão (x2)

GSW-24
Painéis traseiros

(x2)

MONTAGEM

PASSO 1: Instale os pés ajustáveis (GSW-14) e os pés fixos 
(GSW-15) sob GSW-01, GSW-03 e GSW-04. 

Utilize os parafusos M6x12 (GSW-18) para fixar os pés 
(GSW-15).

PASSO 2: Colocar as GSW-01, GSW-03 e GSW-04 na or-
dem e posição desejadas. Certifique-se de que a distân-
cia entre a GSW-3 e a GSW-4 é de 680 mm.

PASSO 3: Instalar as 4 barras (GSW-12) na parte de trás dos 
armários. Colocar os dois painéis traseiros (GSW-24) en-
tre GSW-3 e GSW-4. Fixe as barras aos armários e painéis 
com parafusos M5x12 (GSW-17).

PASSO 4: Instalar os 6 painéis perfurados (GSW-06) com 
parafusos M5x12 (GSW-17).

PASSO 5: Fixar os 3 armários de parede (GSW-05) com pa-
rafusos M5x12 (GSW-17).

PASSO 6: Colocar a placa de MDF (GSW-13).

Fixar os lancis (GSW-09, GSW-10 e GSW-11) com os para-
fusos M5x12 (GSW-17).

PASSO 7: Fixar o painel de MDF ao armário alto com os pa-
rafusos M4x20.

Fixar as barras ao painel de MDF com os parafusos M4x20.



· 19 ·

REF.54327

PASSO 8: Colocar os suportes das prateleiras no interior 
dos armários.

Colocar as prateleiras e as portas.

PASSO 9: Se o chão for irregular, ajustar a altura dos pés 
reguláveis com a chave sextavada.

PASSO 10: Se pretender fixar o conjunto do móvel à parede, 
é necessário utilizar as barras de extensão.

Colocar o conjunto contra a parede.

Coloque as barras de extensão no interior das barras à 
altura pretendida.

Marque na parede onde vai fazer os furos.

Retire as barras de extensão e perfure a parede.

Voltar a colocar as barras de extensão e aparafusá-las à 
parede com os parafusos M4x30.



· 20 ·

REF.54327

MANUAL DE INSTRUCŢIUNIRO

GSW-05 Dulap de perete (x3)

GSW-06 Panou de unelte (x6)

GSW-07 Rafturi pt dulap înalt 
(x4)

GSW-08 Rafturi pentru dulap cu 
două uși

GSW-09 Bordură frontală de 
600 mm

GSW-10 Bordură laterală de 
500mm (x4)

GSW-11 Bordură frontală de 
680mm (x2)

GSW-12
Bară de 1890mm

(x4)

GSW-13 Panou MDF

GSW-14
Picioare reglabile 

(x12)

GSW-15
Picioare fixe

 (x12)

GSW-16 Suporturi pentru rafturi 
(x20)

GSW-17 Șuruburi M5x12 (x80)

GSW-18
Șuruburi M6x12 

(x24)

GSW-19 Șuruburi M4x20  (x6)

GSW-20 Cheie hexagonală

GSW-21
Șuruburi M4x30

(x2)

PREZENTAREA PRODUSULUI

Acest set de mobilier modular pentru atelier 
este conceput pentru a vă ajuta să mențineți 
un mediu ordonat și confortabil.

Uneltele dvs. vor fi amplasate strategic pentru 
a face totul mai funcțional și mai profesionist 
din punct de vedere estetic.

INSTRUCȚIUNI DE SECURITATE

Citiți cu atenție aceste instru-
cțiuni înainte de a utiliza produ-
sul.

Nerespectarea corectă a aces-
tor instrucțiuni poate duce la vă-
tămări corporale și/sau la dete-

riorarea produsului.

Păstrați aceste instrucțiuni pentru referințe ul-
terioare.

LISTA DE PIESE

POZĂ PARTE DESCRIERE

GSW-01 Dulap înalt

GSW-02 Cărucior cu șase 
sertare

GSW-03 Dulap cu 4 sertare

GSW-04 Dulap cu 2 uși



· 21 ·

REF.54327

GSW-22 Dop pt șurub (x2)

GSW-23 Bara de extensie (x2)

GSW-24
Panouri posterioare 

(x2)

ASAMBLARE

PASUL 1: Instalați picioarele reglabile (GSW-14) și picioarele 
fixe (GSW-15) sub GSW-01, GSW-03 și GSW-04. 

Folosiți șuruburi M6x12 (GSW-18) pentru a fixa picioarele 
(GSW-15).

PASUL 2: Așezați GSW-01, GSW-03 și GSW-04 în ordinea 
și poziția dorită. Asigurați-vă că distanța dintre GSW-3 și 
GSW-4 este de 680 mm.

PASUL 3: Instalați cele 4 bare (GSW-12) în partea din spate 
a dulapurilor. Așezați cele două panouri din spate (GSW-
24) între GSW-3 și GSW-4. Atașați barele la dulapuri și pa-
nouri cu șuruburi M5x12 (GSW-17).

PASUL 4: Instalați cele 6 panouri perforate (GSW-06) cu 
șuruburi M5x12 (GSW-17).

PASUL 5: Atașați cele 3 dulapuri de perete (GSW-05) cu 
șuruburi M5x12 (GSW-17).

PASUL 6: Montați placa MDF (GSW-13).

Atașați bordurile (GSW-09, GSW-10 și GSW-11) cu ajutorul 
șuruburilor M5x12 (GSW-17).

PASUL 7: Atașați placa de MDF la dulapul înalt cu ajutorul 
șuruburilor M4x20. Atașați barele la placa MDF cu șurubu-
rile M4x20.



· 22 ·

REF.54327

PASUL 8: Așezați suporturile rafturilor în interiorul dulapurilor.

Poziționați rafturile și ușile.

PASUL 9: Dacă podeaua este neuniformă, reglați înălțimea 
picioarelor reglabile cu ajutorul cheii hexagonale.

PASUL 10: Dacă doriți să atașați ansamblul de mobilier la 
perete, va trebui să folosiți barele de extensie.

Așezați ansamblul pe perete.

Așezați tijele de extensie în interiorul barelor la înălțimea 
dorită.

Marcați pe perete unde veți face găurile.

Scoateți tijele de extensie și găuriți peretele.

Înlocuiți barele de extensie și înșurubați-le pe perete cu 
șuruburile M4x30.



· 23 ·

REF.54327

HANDLEIDINGNL

GSW-05
Wandkast

(x3)

GSW-06
Gaatjeswand

(x6)

GSW-07
Planken

hoge kast

GSW-08 Plank voor kast met 2 
deuren

GSW-09 600mm plint voorzijde

GSW-10
500mm zijkant

(x4)

GSW-11
680mm plint voorzijde

(x2)

GSW-12
1890mm sponning

(x4)

GSW-13 MDF-plank

GSW-14
Verstelbare poten

(x12)

GSW-15 Vaste poten (x12)

GSW-16
Beugels voor planken

(x20)

GSW-17
M5 x 12 bouten 

(x80)

GSW-18
M6 x 12 schroeven

(x24)

GSW-19
M4 x 20 schroeven

(x6)

GSW-20 Inbussleutel

GSW-21
M4 x 30 schroeven

(x2)

PRODUCTPRESENTATIE

Deze set van modulaire meubels voor uw wer-
kplaats, is ontworpen om u overzichtelijke en 
comfortabele werkomgeving te geven.

Uw gereedschap zal strategisch worden ge-
plaatst waardoor alles functioneler en profes-
sioneler wordt.

VEILIGHEIDSINSTRUCTIES

Lees de gebruiksaanwijzing 
grondig door voordat u het pro-
duct gaat gebruiken.

Het niet in acht nemen van deze 
instructies kan leiden tot letsel 
en/of schade aan het product. 

Bewaar de gebruiksaanwijzing voor toekom-
stig gebruik.

ONDERDELENLIJST

FOTO DEEL BESCHRIJVING

GSW-01 Hoge kast

GSW-02 Rolkast met 6 laden

GSW-03 Kast met 4 laden

GSW-04 Kast met 2 deuren



· 24 ·

REF.54327

GSW-22 Muurplug (x2)

GSW-23
Verlengstuk

(x2)

GSW-24
Achterpanelen

(x2)

MONTAGE

STAP 1: Monteer de verstelbare poten (GSW-14) en de vaste 
poten (GSW-15) onder de GSW--1, GSW-03 en GSW-04.

Gebruik de M6x12 bouten (GSW-18) om de poten vast te 
monteren (GSW-15).

STAP 2: Plaats de GSW-01, GSW-03 en GSW-04 in de 
gewenste volgorde en positie. Let erop dat de afstand tus-
sen de GSW-03 en GSW-04 680mm is.

STAP 3:  Plaats de 4 sponningen (GSW-12) aan de achterzi-
jde van de kasten. Plaats de twee achterpanelen (GSW-24) 
tussen de GSW-03 en GSW-04. Monteer de sponningen op 
de kasten en panelen met de M5x12 schroeven (GSW-17).

STAP 4: Monteer de 6 gaatjeswanden (GSW-06) met be-
hulp van de M5x12 schroeven (GSW-17).

STAP 5: Monteer de 3 wandkasten (GSW-05) met behulp 
van de M5x12 schroeven (GSW-17).

STAP 6: Plaats de MDF-plank (GSW-13).

Monteer de plinten (GSW-09, GSW-10 en GSW-11) met de 
M5x12 schroeven (GSW-17).

STAP 7: Monteer de MDF-plank op de hoge kast met M4x20 
schroeven. Monteer elke sponning op de MDF -plank met 
M4x20 schroeven.



· 25 ·

REF.54327

STAP 8: Plaats de plankhouders in de kasten.

Plaats de planken en de deuren.

STAP 9: Wijzig de hoogte van de verstelbare poten door 
middel van de inbussleutel als de grond ongelijkmatig is.

STAP 10: U moet de verlengstukken gebruiken als u de een-
heid op een wand wilt monteren.

Plaats de eenheid tegen de wand.

Steek de verlengstukken in de sponningen op de door u 
gewenste hoogte.

Breng een markering aan op de wand waar u de gaten wilt 
boren.

Haal de verlengstukken eruit en boor de gaten in de wand.

Plaats de verlengstukken er weer tussen en monteer ze op 
de want met de M4x30 schroeven.



· 26 ·

REF.54327

ÜZEMELTETÉSI UTASÍTÁSHU

GSW-05
Faliszekrény

(3 db)

GSW-06
Falitábla

(6 db)

GSW-07
Magasszekrény

polcok (4 db)

GSW-08 2-ajtós szekrény polc

GSW-09 600 mm-es elülső 
lábazat

GSW-10
500 mm-es oldallap

(4 db)

GSW-11
680 mm-es elülső 

lábazat

(2 db)

GSW-12
1890 mm-es oszlop

(4 db)

GSW-13 MDF lap

GSW-14 Állítható magasságú 
láb (12 db)

GSW-15 Fix láb (12 db)

GSW-16
Polc konzol

(20 db)

GSW-17
M5x12-es csavar 

(80 db)

GSW-18
M6x12-es csavar

(24 db)

GSW-19
M4x20-as csavar

(6 db)

GSW-20 Imbuszkulcs

GSW-21
M4x20-as csavar

(6 db)

TERMÉKBEMUTATÁS

Ezt a moduláris műhelybútor készletet azért 
terveztük, hogy segítsünk Önnek rendezett és 
kényelmes környezetet teremteni.

Szerszámait célszerűen helyezheti el, hogy 
minden funkcionálisabban és professzionálisa-
bban működjön.

BIZTONSÁGI UTASÍTÁSOK

Figyelmesen olvassa el ezeket az 
utasításokat a termék használa-
ta előtt.

Az utasítások be nem tartá-
sa személyi sérülést és/vagy a 
termék károsodását okozhatja. 

Kérjük, őrizze meg az utasításokat későbbi fel-
használásra.

ELEMEK LISTÁJA

FOTÓ ELEM LEÍRÁS

GSW-01 Magasszekrény

GSW-02 6 fiókos görgős 
szekrény

GSW-03 4 fiókos szekrény

GSW-04 2-ajtós szekrény



· 27 ·

REF.54327

GSW-22 Tipli (2 db)

GSW-23
Hosszabbító elem

(2 db)

GSW-24
Hátlap

(2 db)

ÖSSZESZERELÉS

1. LÉPÉS: Állítsa be az állítható magasságú lábakat (GSW-
14) és a fix lábakat (GSW-15) a GSW-01, GSW-03 és GSW-
04 elem alá. A lábak (GSW-15) rögzítéséhez M6x12-es 
csavart (GSW-18) használjon

2. LÉPÉS: Helyezze el a GSW-01, GSW-03 és GSW-04 ele-
met a kívánt sorrendben és helyzetben. Ügyeljen rá, hogy 
a GSW-3 és GSW-4 elem között 680 mm távolság legyen.

3. LÉPÉS:  Szerelje fel a 4 oszlopot a szekrények hátoldalára.

Tegye be a két hátlapot (GSW-24) a GSW-3 és GSW-4 
elem közé. Az oszlopokat M5x12-es csavarokkal (GSW-17) 
rögzítse a szekrényekhez és a hátlapokhoz.

4. LÉPÉS: Szerelje fel a 6 perforált panelt (GSW-06) M5x12-
es csavarokkal (GSW-17).

5. LÉPÉS: Szerelje fel a 3 faliszekrényt (GSW-05) M5x12-es 
csavarokkal (GSW-17).

6. LÉPÉS: Tegye fel az MDF lapot (GSW-13).

Szerelje fel a lábazat lapokat (GSW-09, GSW-10 és GSW-
11) az M5x12-es csavarokkal (GSW-17).

7. LÉPÉS: Rögzítse az MDF lapot a magasszekrényhez 
M4x20-as csavarokkal. Rögzítsen miden oszlopot az MDF 
laphoz M4x20-as csavarokkal.



· 28 ·

REF.54327

8. LÉPÉS: Tegye be a polctartókat a szekrényekbe.

Tegye be a polcokat és szerelje fel az ajtókat.

9. LÉPÉS: Ha a padló egyenetlen, módosítsa az állítható lá-
bak magasságát az imbuszkulccsal.

10. LÉPÉS: Ha az egységet a falhoz akarja rögzíteni, hasz-
nálnia kell a hosszabbító elemeket.

Állítsa az egységet a falhoz.

Illessze be a hosszabbító elemeket az oszlopokba a kívánt 
magasságban.

Jelölje meg a falon, hogy hová fogja fúrni a lyukakat.

Vegye ki a hosszabbító elemeket és fúrja ki a lyukakat a 
falon.

Tegye vissza a hosszabbító elemeket, és rögzítse őket a fal-
hoz az M4x30-as csavarokkal.



· 29 ·

REF.54327

РУКОВОДСТВО ПО ЭКСПЛУАТАЦИИRU

GSW-05
Настенный шкаф

(x3)

GSW-06
Перфорированная 

панель

(x6)

GSW-07

Полки

высокого шкафа (х4)

GSW-08 Полка 2-дверного 
шкафа

GSW-09 Передняя панель 
600 мм

GSW-10
Боковина 500 мм

(x4)

GSW-11
Передняя панель 

680 мм

(x2)

GSW-12
Опора 1890 мм

(x4)

GSW-13 МДФ-панель

GSW-14
Регулируемые ножки

(x12)

GSW-15 Фиксированные 
ножки (х12)

GSW-16
Кронштейны полок

(x20)

GSW-17
Болты M5x12 

(x80)

GSW-18
Винты M6x12

(x24)

GSW-19
Винты M4x20

(x6)

GSW-20 Ключ-шестигранник

GSW-21
Винты M4x30

(x2)

ОПИСАНИЕ ПРОДУКТА

Этот набор модульной мебели поможет 
вам поддерживать порядок и создать 
комфортную рабочую среду в мастерской.

Мебель позволит расположить инструменты 
таким образом, чтобы обеспечить 
наилучшую функциональность рабочего 
пространства.

ИНСТРУКЦИИ ПО БЕЗОПАСНОСТИ

Перед использование продукта 
внимательно прочтите 
настоящие инструкции.

Несоблюдение настоящих 
инструкций может привести к 
травмам и/или повреждениям 

продукта. Сохраните эти инструкции для 
использования в будущем.

СПИСОК КОМПОНЕНТОВ

ФОТО КОМПОНЕНТ ОПИСАНИЕ

GSW-01 Высокий шкаф

GSW-02 Шкаф на роликах с 6 
ящиками

GSW-03 Шкаф с 4 ящиками

GSW-04 2-дверный шкаф



· 30 ·

REF.54327

GSW-22 Дюбель (x2)

GSW-23
Удлинительная планка

(x2)

GSW-24
Задние панели

(x2)

СБОРКА

ШАГ 1: Установите регулируемые ножки (GSW-14) и 
фиксированные ножки (GSW-15) под GSW-01, GSW-03 
и GSW-04. Для крепления ножек (GSW-15) используйте 
болты M6x12 (GSW-18).

ШАГ 2: Разместите GSW-01, GSW-03 и GSW-04 в 
желаемом порядке и положении. Убедитесь, что 
расстояние между GSW-3 и GSW-4 составляет 680 мм.

ШАГ 3: Установите 4 опоры (GSW-12) на задней стенке 
шкафов. Установите две задних панели (GSW-24) между 
GSW-3 и GSW-4. Установите опоры на шкафы и панели, 
используя винты M5x12 (GSW-17).

ШАГ 4: Установите 6 перфорированных панелей (GSW-
06) с помощью винтов M5x12 (GSW-17).

ШАГ 5: Установите 3 настенных шкафа (GSW-05) с 
помощью винтов M5x12 (GSW-17).

ШАГ 6: Установите МДФ-панель (GSW-13). Установите 
основания (GSW-09, GSW-10 и GSW-11), используя винты 
M5x12 (GSW-17).

ШАГ 7: Закрепите МДФ-панель на высоком шкафу, 
используя винты M4x20. Закрепите каждую опору на 
МДФ-панели с помощью винтов M4x20.



· 31 ·

REF.54327

ШАГ 8: Установите крепления полок внутри шкафов.

Установите полки и двери.

ШАГ 9: Если пол неровный, отрегулируйте высоту 
регулируемых ножек с помощью ключа-шестигранника.

ШАГ 10: Если вы хотите прикрепить собранную 
конструкцию к стене, вам понадобятся удлинительные 
пластины.

Разместите собранную конструкцию у стены.

Вставьте удлинительные пластины в опоры на желаемой 
высоте.

Нанесите метки в местах сверления отверстий на стене.

Выньте удлинительные пластины и просверлите 
отверстия в стене.

Снова установите удлинительные пластины и закрепите 
их на стене с помощью винтов М4х30.



· 32 ·

REF.54327

INSTRUKCJA OBSŁUGIPL

GSW-05
Szafka ścienna

(x3)

GSW-06
Płyta kołkowa

(x6)

GSW-07 Półki do szafki 
wysokiej (x4)

GSW-08 Półka do szafki 
dwudrzwiowej

GSW-09
Listwa przypodło-

gowa przednia 600 
mm

GSW-10
Listwa krawędziowa 

500 mm

(x4)

GSW-11

Listwa przypodło-
gowa przednia 680 

mm 

(x2)

GSW-12
Słupek 1890 mm

(x4)

GSW-13 Płyta MDF

GSW-14
Nogi regulowane

(x12)

GSW-15 Nogi stałe (x12)

GSW-16
Wspornik półki

(x20)

GSW-17
Śruby M5x12 

(x80)

GSW-18
Śruby M6x12 

(x24)

GSW-19
Wkręty M4x20 

(x6)

GSW-20 Klucz sześciokątny

PREZENTACJA PRODUKTU

Ten modułowy zestaw mebli do Twojego war-
sztatu został zaprojektowany z myślą, by po-
móc Ci utrzymać otoczenie w porządku i kom-
forcie.

Twoje narzędzia będą rozmieszczone strate-
gicznie, aby wszystko było bardziej funkcjonal-
ne i profesjonalne.

INSTRUKCJE BEZPIECZEŃSTWA

Przeczytaj uważnie te instrukcje 
przed użyciem produktu.

Nieprzestrzeganie tych instruk-
cji we właściwy sposób może 
spowodować uszkodzenia ciała 
i/lub produktu. Zatrzymaj je, by 

móc skorzystać z nich w przyszłości.

LISTA CZĘŚCI

FOTOGRAFIA CZĘŚĆ OPIS

GSW-01 Szafka wysoka

GSW-02
Szafka z 6 szufladami 

i roletą

GSW-03 Szafka z 4 szufladami

GSW-04 Szafka dwudrzwiowa



· 33 ·

REF.54327

GSW-21
Wkręty M4x30 

(x2)

GSW-22 Kołek ścienny (x2)

GSW-23
Przedłużka

(x2)

GSW-24
Płyty tylne

(x2)

MONTAŻ

KROK 1: Zainstaluj nogi regulowane (GSW-14) i nogi stałe 
(GSW-15) pod GSW-01, GSW-03 i GSW-04. Do zabezpiec-
zenia nóg (GSW-15) użyj śrub M6x12 (GSW-18).

KROK 2: Umieść GSW-01, GSW-03 i GSW-04 w pożądanej 
kolejności i położeniu. Dopilnuj, żeby dystans między GSW-
3 a GSW-4 wynosił 680 mm.

KROK 3: Z tyłu szafek zainstaluj 4 słupki (GSW-12).

Między GSW-3 i GSW-4 wstaw dwie płyty tylne (GSW-24).

Przymocuj słupki do szafek i płyt śrubami M5x12 (GSW-17).

KROK 4: Za pomocą śrub M5x12 (GSW-17) zainstaluj 6 płyt 
perforowanych (GSW-06.

KROK 5: Za pomocą śrub M5x12 (GSW-17) zainstaluj 3 szafki 
ścienne (GSW-05).

KROK 6: Załóż płytę MDF (GSW-13). Za pomocą śrub M5x12 
(GSW-17) zainstaluj listwy przypodłogowe (GSW-09, GSW-
10 i GSW-11).

KROK 7: Za pomocą wkrętów M4x20 przymocuj płytę MDF 
do szafki wysokiej. 

Za pomocą wkrętów M4x20 przymocuj każdy słupek do 
płyty MDF.



· 34 ·

REF.54327

KROK 8: Umieść w szafkach podpórki do półek.

Zainstaluj półki i drzwi.

KROK 9: Jeśli podłoga jest nierówna, używając klucza sześ-
ciokątnego zmień wysokość nóg regulowanych.

KROK 10: Jeśli chcesz przymocować mebel do ściany, mu-
sisz użyć przedłużek.

Dostaw mebel do ściany.

Wstaw przedłużki do słupków na potrzebnej wysokości.

Zaznacz na ścianie, gdzie będziesz wiercić.

Wyjmij przedłużki i nawierć ścianę.

Wstaw ponownie przedłużki i przymocuj je do ściany wkrę-
tami M4x30.



· 35 ·

REF.54327

www.jbmcamp.com
JBM CAMPLLONG, S.L.U.

CIM La Selva - Ctra. Aeropuerto km. 1,6 
Nave 2.2 - CP 17185 Vilobí d’Onyar - GIRONA

 jbm@jbmcamp.com 
Tel. +34 972 405 721 

Fax. +34 972 245 437

54327


	es

